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run_13044025 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13044025 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13044025 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13044025 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13044025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13044025 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13044025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13044025 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Mon Feb 13 09:26:30 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Mon Feb 13 09:22:00 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Mon Feb 13 09:25:55 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Mon Feb 13 09:26:32 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Mon Feb 13 09:22:17 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

AD%ped

I
3000 4000
raw ADC

1
0 1000 2000

[ADC for FGT RDO=LARM=2,APV=2 }

AD%‘ped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

=1 I N S R R N S N

=

ey el P o (A Al o I el

= o

=1 B R BRI

= .

o= il I A - b i N i A A

=i I N Y FAT I SO R N N

= H

= .

=111 717" R (el It A Bl o I el

= . .

= -1-1-F----1 e B e R | e e

= L L L L i i

0 20 40 60 80 100 120
APV channel

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
=
L
I
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

= 4000
] = . . . .
2 = 8 8 8 2
Q 3500 |- {-{-t-F- 4 -4 -F - -t
< =
3000 B - {-{-t-F- 424t -F------ -t
=
PV =2 B B Y LA O O | B SR e
=
2000 “1-t-r- ° LB
=
1500 B 4-1-1-f-r- - 1 o SEEELE ==
1000 B - 1-1-f-r-F -4k ==
=
V)= O B X Y S O AR | PR PP adha
=
o -1 - - - P
s i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=3 }
= 4000 p—
] =
& =
Q 3500 -
<

3000

2500

2000

1500

1000

500

0

© T TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

120
APV channel

© AT A A A

APV channel

... 8 B B L L

10

10°

10°

10

10

10°

10

10°




run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Feb 13 09:25:57 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Mon Feb 13 09:26:33 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Mon Feb 13 09:22:30 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Feb 13 09:25:58 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Mon Feb 13 09:26:34 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 13 09:22:36 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Mon Feb 13 09:25:59 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Mon Feb 13 09:26:35 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB

Mon Feb 13 09:22:38 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 13 09:25:59 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Mon Feb 13 09:26:35 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 13 09:22:44 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Mon Feb 13 09:26:00 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Mon Feb 13 09:26:36 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 13 09:22:46 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 13 09:26:01 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Mon Feb 13 09:26:36 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 13 09:22:54 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 13 09:26:02 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 13 09:26:37 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 13 09:23:02 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 13 09:26:03 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 13 09:26:39 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 13 09:23:04 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13044025 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 13 09:23:13 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Mon Feb 13 09:26:40 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13044025 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 13 09:26:04 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Mon Feb 13 09:26:40 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 13 09:23:23 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 13 09:26:06 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Mon Feb 13 09:26:41 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Mon Feb 13 09:23:31 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 13 09:26:07 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13044025 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 13 09:26:42 2012
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run_13044025 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Mon Feb 13 09:23:41 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13044025 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13044025 FGT_ADC_1,Timebin=2,Disc=2,asmb=2CD

Mon Feb 13 09:24:18 2012

[ ADC for FGT RDO=2,ARM=1,APV=12 |

[ 1000

2000 3000 4000

raw ADC

[[_ADC for FGT RDO=2.ARM=1.APV=13 |

I
3000 4000
raw ADC

1 1
0 1000 2000

ADC for FGT RDO=2,ARM=LAPV=14__§
—

2000

3000 4000
raw ADC

H
0 1000

[ ADC for FGT RDO=2,ARM=1,APV=15

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=2,ARM=1.APV=16 _§

0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=L,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

< AT A A A

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAARNATGRARRIATENATENATENAG]

APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. A .. 4 m..d e d M

10

10

10

10

10




run_13044025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 13 09:26:14 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

500

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500 [+

1000 f+

e W e W I S S P " S | o 5 i
80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500
Q

APV channel




run_13044025 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 13 09:26:49 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

RMS (ADC-ped)

1

0.8

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

RMS (ADC-ped)

1

[— 5
0.8 p—
0.6 pP— e
7 R
i . 8
02 [ e m o e r et BT T PP P PP PR e
[— 5 5
o = i i . i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=1,APV=14 "}
=3 — . 5
[ — . . B
2 L— . .
8 Y| Rl SLELLELLELLELLELELLLEL ELLELELLELLELLELLELLEL Y SRGCLELELLLLLELLELLELY sSLELEE
< — : :
2 — 8 2
T e e [
-
@5 |E=—=c00505000500000050am050005000502500509000T055025005090005505503 0P 0509050550550300030004H350550250050905055009@HE0050905025059096003048005505
L— o g
= : :
OSHI=— A T g o ooTEeseesssesassnesspenenenessasaesseeseees g ooTeee
L e R
02 e e e L T P PR PP PP PP PP PP PP TP e
o = i i i i i i
0 20 40 60 80 100 120
APV channel

[ADC RMS for RDO=2,ARM=LAPV=15__}

RMS (ADC-ped)

4
F—

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

RMS (ADC-ped)

4.5

4

35

3

215

2

115

1

0.5

0

© T TATHATH

APV channel




run_13044025 FGT_ADC_1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 13 09:24:23 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13044025 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
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run_13044025 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 13 09:26:49 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=3,asmb=3BC
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 13 09:26:15 2012
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run_13044025 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 13 09:26:49 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=3,asmb=3BC
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run_13044025 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 13 09:26:50 2012
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run_13044025 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 13 09:26:16 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Mon Feb 13 09:26:50 2012
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run_13044025 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 13 09:25:08 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 13 09:26:17 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD
Mon Feb 13 09:26:52 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

120 c
10 [
8 |
oo |
40 |

20 |

L i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

18

16

14

12

10

=
=
0

20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

60

50

40 =

30

20

10

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

14 E

12 [

10

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

12

10

8

N

oFFT

120
APV channel




run_13044025 FGT_ADC_1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 13 09:25:14 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 13 09:26:19 2012
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run_13044025 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13044025 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
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run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Feb 13 09:26:56 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
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run_13044025 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Feb 13 09:26:56 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=5,asmb=5BC
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run_13044025 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 13 09:26:57 2012
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run_13044025 FGT_ADC_1,Timebin=2,Disc=5,asmb=5BC

Mon Feb 13 09:25:39 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
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run_13044025 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 13 09:26:58 2012
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run_13044025 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Mon Feb 13 09:25:45 2012
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run_13044025 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Mon Feb 13 09:26:24 2012
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run_13044025 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Mon Feb 13 09:26:59 2012
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